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Exercise 1: Given the following relation

{24 (3.6) (4.8) (5.10)}

The domain is é Z)?), L"'¢53 and the rangefis %L‘& ) LD. g‘ )DE

Exercise 2: Given the following relation
o {(March, 20) (April, 28)} :

;hedomoinis {Mamh prhgand’rher_cmg_e_.is % QD; 3%%

] ’ et e

A ypmbkund/ofrelatwww%_

_ A function is a relation in which no two ordered pairs have the same Tirst element. (The
domain CANNOT repeatl) It is a rule that converts an input ( X - values) into only one
output ( |- values). A function can be represented in many ways such as:

“E\JCY\l mput MUSt have exact\ly one ouvtput.
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'Like stated above, there are different ways to determine whether an equation is a function:

I. When given a set of coordinate points T
Exercise 1: State if the set of coordinate points represent a function and justify your answer.

XOne ¢ w Y= VOo\UES
a) {(1,2) 34) (5,6) (7.8) (9,10)} b) {(5,7) (6,3) C8,D (-4.2) (@}
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Il. When given a table: o Y
a) Does the table below represent a function? ;
Hours, h p. 9 0 1 ) g )
Temperature, T(f) \! 212 141 104 85
|YES
b) Does the table below representofunchon? phis Sl 7
X X A ) 5 7/ 3\
F(x) N \3 & \_3
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(2 and -2)
lil. When given a “ma " diagram:

b)
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IV. When given a graph:
To determine whether it's a function when given a graph we can use the vertical line test. a\
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P’RACTIC’E Defermlne whether each is or is not a function. Explain your reasoning.

a) {(1.2) (3.4) (5.6) (7.8) (9.10)} | D) | ( W\k% c) {(5.7) (6.3)(-8.1) (-4.2) 8.4) -4)
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